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Math 002 Final Exam
Term 023

Important Instructions:
1. All types of Calculators, Pagers or Telephone are NOT allowed
during the examination.
2. DO NOT any mark opn a choice of any answer on the exam
paper.
. Use HB 2.5 pencils only.
. Use a good eraser. DO NOT use the erasers attached to the
pencil.
5. Write your name, ID number and Math Section number ob
both the examination paper and the OMR sheet.
Detach the OMR sheet carefully.
_ When bubbling your ID number and Math Section number, be
sure that the bubbles match with the number that your write.
8. Math the Test Code Number already bubbled in your answer
sheet with the Test Code Number printed on your question
paper.

9. When erasing a bubble, make sure that you do not leave any
trace of penciling.

10. Check that the exam paper has 30 questions.
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I. Let f(x)=e~ +1, then which one of the following statements is
-~ FALSE?

@The range of f 18 (0,»).

3
| (9 384 93
b) The graph of s has no x-intercept.
c) The graph of s has a y-intercept at (0,2). ge_,f_ Lf .2
d) The graph of sdecreases on the interval (—,).

¢) The domain of 7 is (—e.).

2. The domain of the logarithmic function 7 (x)=1+log(¥ —x) is:
a)) (-LO)U(L,)

b) (-L1U(L%) o
c) (-Le) @ Ll (( €C (f ‘ 3
d) (-2.1)U(Leo)

e) (-2,0)U(2,e)
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3. The number of real solutions of the exponential equation
10" —10™*

0 @ gq Cec Y- 5

c) 2

=20 18:

d) 3

e) 4

4. Which one of the following statements is TRUE?

@0“ and 400° are coterminal angles.

b) Angles that have a measure greater than 90" but less than 180
are acute angles.

‘ dzd :
c) 90" angles are straight angles. G W“JZ Shadesudts

d) » radian = 7 SWW\ SJL(:* g ’

¢) = radian is less than =’
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5 1If W[mwnjzf’(x,y), then x—y=

@1—J§
H g{ml\;\w o @ -1 L
g,ec g‘l’{

6. Let %{t <7z. By writing tans in terms of sinz, we get:

—gins

a)|tant = ——=—
J1—sin’z

sint

J1—sin?¢

) tant =

Sinibier & (G537
Cec €Y

ity ¢

0) tant=——mt
V1+sin's

—gint
d) tant = ——=———
N1+sin? ¢
—1—sin®s
¢) tans =0 L

sint
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7. Let f(x)*—-]-%—csc(lx +%] Then which one of the following
statements is TRUE?

-
@ he graph of / has infintely many K-intercepts.

. \ v ] - S
b) The phase shift of f is —é’-_ g,‘m\\‘«m o @ 23 ©

¢) The period of f 1s 27, SF_C_ g , ?

d) The graph of /" has no x-inlercept.

¢) One cycle of the graph of /' is completed on the interval = <x =< %

gin3x cos3x
8. +

gin2x cos2x
@Zsinﬁx
sin dx
by 2 g[mf oy ExY Sec b. L
2
1 EXJ. Cec 63
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10. The sum of the solutions of the trigonometric equation
sinx+cosx=1, where = <x<3r, 18:

b) 4z

(DY

S-é?r:_ éé

Master
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11. The solution set of the inverse trigonometric equation

_3 _ T .,
sin” —— +tan” x =— 18:
5 2

%fﬁ\\‘ \\“ Gy —tﬂ E X g

0)4 Sec;(ag

e) 1

12. If »=(3,3) and v=3;, then a vector of length 3 in the opposite

' . 1 .
direction of w2y 18;

Yy

o J2.2) Sty o €x 289
n (272

-9 12 gec ? ‘ 3
) (?"5‘>
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13. Given the vectors w={y,x) and v=(x,y), then projv+proj.w is

equal to:

o 4
@

2
b)ﬁ

gimi‘\‘ﬂnf 1. EX ¥e
Sec ‘73

¢ 2xy
v+

d) [l
e) Z(x2 + yz)

14. The equation in standard form of the parabola that has
vertex (3,-5), has its axis of symmetry parallel to the x-axis

and passes through the point (4,3) is:
(y+5)2 =64(x~3)
) (y+5) =-16(x-3) (] 2 Sec 8
¢) (y+5) =16(x-3)
2) (x-3)" =64(y+5)

e) (x=3) =16(y+5)
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15. The coordinates of one of the foci of the ellipse that has
eccentricity 2 minor axis of length 220 on the x-axis and
3

center at (0,0) is:

@0,4)

B) (~4.0) ggml,\w t, @ <]

¢) (0.-8) f
Sec 8- &

d) (0,-6)

e) (2,0)

16. One equation of the asymptotes of the hyperbola
4x? —25y% +16x+50y—-109=0 18!

b)y=2x+] 22
@)11 Sec €

by, 9
Y 5 5
d)y:-i—x+9

-2
eyy=—x+I1
Yy P
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17. The equation in standard form of the hyperbola that has foci
(0,3) and (0,-3) and passes through the point (33] is:

n - Q ¢ Sec & 3

] o . 2x—5xy=3
18. If (x,y) is the solution of the system of equations {3x cdmy=2’

then X+my=

b)% Qgg See G-

a2
23

19
3) 2—3
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19. If the graphs of the parabola y=x" —4x+3 and the hng .
y-2x=k intersect at only one point, then the value 0

equal to:

€)3 géic, C(“%

dy —3

ooy - W3S

e) —1

20. If (a,5) and (c.d) are the solutions of the system

{(x 1Y +(y+1) =5 _then a+b+c+d is equal to:

(x+1) +(y- 1) =1
@0
2 Tinibior © @3]
c) 2

Sec 9- 3

dy -1
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4x-5y—-z=2
91. The echelon form of the system {3x—4y+z=-2 15
x-2y—-z=3
] |
1 -2 -1 3
11
7 =
CRE:
13
o 1 ——
X 6
1_1 -2 -1 3
-11
0o 1 —-—
| 6
Lo s
11
o 1 2 —-—
c) 5
i3
0 =
_0 0 6 |
1 2 -1 3
11
0o 1 2 -—
d) 5
5
o 1 —
° 6.
1 -2 -1 3
11
0o 1 2 —-—
e) 5
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x+2y-2z=3

22 The system of equations {5x+8y—6z=14

Ix+4y—2z=8
@ is dependent

b) 1s independent

@{f} Sec (0]

¢) is inconsistent

1
d) has the unique solution {(2,5,0}

hi

¢) has the unique soluion {(0

|

x+y=1
23. The system {y+z=1 has no solution if & 1s equal to:

Ch ‘ ‘

B 1 Siobier ®-§3
o) 0 |
Sec [v]

d)y =2

e) 2



FROM @ PREF-YERR MATH PROG FR= NO. @ BE96638682379

Aug, 22 20E3 B3:34FM  Fl4

@

B o lign 1 G20 £ Ex

)0

Sec [0 L
d)y -1
ey -2

2
1} is a singular matrix if £ 18 equal to:

25. The matrix {
2

oo -
= o O

©;

b) -6

gK l. S-(i.c_ (o3 1 '}'61
A_[Cg{%@/_’) Vt,«!]‘_ —@g{“g—F \‘g \f\\ =C
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A tion in the
26. The system of equations JL;;—?W g has the solutio

form:

1 0 7
27. Let 47 {2 1 1} , then the sum of the elements In the 2™
7 3 1

row of the matrix 4 is:
@;4
b) 10 Ly 3 Sec (0.5
c) 9

d) 16

e) 2
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4 -5 6

5 -2 -3
28.1f A{z 4 =1],then M, +Cy=

ay —10

b 18 Q9-12 Cec 10 Y

c) -8
d) -9
e) 0

79 Let 4. 7 be two invertible matrices such that |4|=2 and |5]=4,
then |24|+|478|=

@18 & ‘Q_Mkw @6\@ 0 X\Q/VD\‘[’\'GYU‘ 4’2
oo v
c) 20 Py.&mtl "E IV\T@'\"S--‘?— owﬂz}

d) 22

Sec lo-‘f

e} 16
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2 2 2 1 2 3
30, If |x-1 y-2 z-3|=3,then |x y zl=
1 2 3 4 4 4

()6

b) —8

Cialliow £ G 23-Y0

c) 6

@ -1 S ec (u.\{

ey 0



